- VARIES _
E‘.ﬁx aﬁx
. SEE ANCHOR SCHEDULE .
2FR'3’:‘JX' 112 FOR SPACING efl EFR'gﬁ"
CORNER, TYP CORNER, TYP
16" OVERLAP
ALL AROUND

|

DESIGN PRESSURE RATING CHART
AlLL APPROVED CONFIGURATIONS

+70.0/-70.0 PSF

GEMERAL NOTES:

i o

—~}—1/8"

o
—

[Xe

BILL OF WATERIAL

ITEM

# DESCRIPTION

POLYPROPYLENE FABRIC

BLACK THREAD

1/8" X 1" X _1/8" THICK ALUMINUM FLAT BAR _6061-T6

1/8° X 1 1/2" X 1/8" THICK ALUMINUM FLAT BAR 6061-T6

17 X 1" X 3/16" THICK ALUMINUM ANGLE 6061-T6

1 1/2° X 1 172" X 3/16" THICK ALUMINUM ANGLE 6061—16

1/8" ALUMINUM POP RIVET 1/2" LONG

ANCHORS, SEE ANCHOR SCHEDULES

NOT USED

CH (o~ P[P ba =

1/4—20 x 3/4° STAINLESS STEEL BOLT

11

1/4-20 x 1" STAINLESS STEEL BOLT

12

1/4-20 x 1 1/2" STAINLESS STEEL BOLT

13

1/4 STAINLESS STEEL LOCK WASHER

14

1/4 STAINLESS STEEL JAMB NUT

15

1/4" STAINLESS STEEL LOCK NUT

11/2"

NI

1. ALLOWABLE DESHGM PRESSURES SHALL MOT BE EXCEEDED.
2. PAHEL SPANHS LOMGER THAN MAMUM MOTED ARE WOT ALLOWABLE.
3. PAMELS WAY BE WOUNTED VERTICALLY OR HORIZOMTALLY.

—~{—1# -l — 3/18"

® ®‘:ﬁ

__1 o ____r |-——1 1/2

ON THIS PRODLUCT.

1. SEE ANCHOR SCHEDULES FOR ALLOWABLE LOADS, SPANS AND ANCHOR SPACING FOR EACH AMCHORAGE SCENARID,
2. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S RECOMMENDATIONS.

3. ALL WOOD ANCHORS SHALL HAVE EMBEDMENT AS SHOWN NTO STRUCTURAL FRAMING, NOT INCLUDING PLYOOD OR OTHER FINISHES.
5.

EXTERIOR ELEVATION

SYM REVISICH

FBPE Certifloats of Authorization WO, 25035

i. UCT SHOWN HEREIM IS DESIGHED AND WAMUFACTUREC TO COMPLY WITH THE 2003 INTERMATIONAL BUILDING/RESIDENTUL CODE AS A LARGE MISSILE IMFACT SYSTEM.

& IMFACT PROTECTVE SYSTEM IS MOT REQINRED

3 Jﬁ&fgmgﬁéslénm STRESS HAS HOT BEEM USED IN THE DESIGH OF THIS PRODUCT. WIND LOAD DURATION FACTOR Cd=1.6 HAS BEEM USED FOR

4. ALL BOLTS AND WASHERS SHALL BE ZINC COATED, GALVAMIZED OR STAMLESS STEEL WITH A MINIMUM TEWSILE STRENGTH CF 50 KSI.

5. ACCEPTANCE CRTERW AS PROVIDED N ASTM EV9H6 HAS BEEN WMET BY THIS SYSTEM AS A HON-POROUS SYSTEM.
THE GLAZING BEIMG PROTECTED IS REQUIRED.

6. STORM PANELS HAVE BEEM DESIGNED AMC TESTED TO THE WAXIMUM SPAN AND LOADS SHOWHM M THESE DRAWIMGS, SEE CERTIFIED TESTIMG

LABORATORIES TEST REPORT CTLA—1523W

THEREFORE WO MIHIMUM SEPARATION FROM

SURE THAT WINIMUM EDGE DISTAMCES AND WINIMUM EMBEDMENT WALUES AS SHOWN FOR EACH AMCHOR TYPE IN ANCHOR SCHEDULES ARE MAINTAIMED.
ALL ANCHORS SHALL HAVE A LENGTH ADECQUATE TO PROVIGE THE MIMIMUM EMBEDMENT WALUES USTED FOR EACH AMCHOR.

CAT 5 HURRICANE SCREENS, LLC.

H-of-o2

TRINITY, FLCRIDA
, TITLE: WiND ABATEMENT SYSTEM
ELEVATIO#L_ANCHORI, BOM AND _NOTES
M ey | HFN 08/06/07
1535 -::ogsu:qucétr":ft; Sults €25 lr”ﬂ [ A N.T.S. CATCO03
Rockledge, Florida 32955 , ThEET:
Phona 32180017828  Fan 3210901789 1 0F 3




EXTERICR FINISH
BY CTHERS

4

8

SEE ANCHOR
SCHEDULE

EXTERICR

2

BRICK VENEER
EXTERIOR
BY OTHERS

SEE ANCHOR{ g
SCHEDULE

1 7/8" MIN.
EMBEDMENT

{NTERIOR FINISH
BY OTHERS

= =y

Frigt e
r .
‘:'5: Sen :::1::

SR

M

2X WOOD FRAMING
BY OTHERS

0D

LSRN
A )

e
e 5] l

[yt
WA

rT) A
A&
]

o — —

WOOD FRAMING INSTALLATION

3/4 " MIN. J
EDGE DISTANCE

SHEATHING
BY OTHERS

BRICK VENEER
EXTERIOR
BY OTHERS

1-5/8 " MIN.
EDGE DISTANCE®

SEE ANCHOR (“g
SCHEDULE

\I\zx WOOD FRAMING

BY OTHERS

_ 1 7/8" MIN.

SECTION A
WOOD INSTALLATION

EMBEDMENT

EXTERIOR

2

SEE ANCHOR
SCHEDULE

1 7/8" MIN.

1 7/8" MiN.
EMBEDMENT®

CONCRETE/MASONRY
~ BY OTHERS

!

2 1/2 " MIN.
EDGE DISTANCE®

|

\EITERIOR FINISH

BY OTHERS

SECTICN B
CONCRETE/MASONRY INSTALLATICN

® SECTION A
MASOMRY INSTALLATION

EMBEDMENT
- 2" MIN.
EDGE DISTANCE
SEE AMCHOR INTERIOR FINISH
EXTERICR FINISH SCHEDULE
. BY OTHERS
8 Y 1
: ) Wy "
1 a : 13 e 1 7/8" MIN.
% S : . ok EMBEDMENT
EE a CONCRETE OR— =l — = 2= 'f
e MASOMNRY
BY OTHERS | 2 1/2" MIN.
] EOGE ODISTANCE®
. \/\ SECTION A
CONCRETE /MASONRY WITH MOUNTING ANGLE

CAT 5 HURRICANE SCREENS, LLC.

TRINITY, FLORIDA

WIND ABATEMENT SYSTEM
CROSS SECTIONS

Florida P £ ne Be302 ——— HFN ~08/06/07
,p-n:l e ' N H
1535 Cogawell Streei, Suits' €25 ’fm'u_c ‘ CATOCO3
Rockledhs, Floride 32855 k SHEET:
FOPE Cartificate of Authorization W0, 25935 Phore 321.800.1788  Fax  321.000.1788 2 0OF 3




1 7/8" MIN ANCHOR _SCHEOULE — WOOD SUBSTRATE (MIN G=0.53) * ANCHOR SCHEDULE — CONCRETE SUBSTRATE (MIN 3000 PSI}
. oW
EMBEDMENT o ceTeR
EXTERIOR FINISH ANGHOR TYPE oot Shas | SeTiEEN ANCHOR TYPE WD | SPans E‘"‘”&i
BY OTHERS oF N o) (PSP Jor ) M5
4 2X WCOoD /4" ITW TAPCON SG W/ 15" MIN EMBECMENT. s 8 174 W TAPCON SC W/ 13" MH EMAEDMENT. o | ar Ly
3 X7 / FRAMING % | s | & 1 =
JERi I\,J’ - BY OTHERS ‘@m o | W | & ‘W NG
s 70 | o7 8" EL S a
8 e 3 I 70 | 20 8 o | 1207 g
P 1/4% ELCO PAMELMATE {(MALE OR FEMALE) WITH %~ | 70 | a7 a 1/4™ ELCO PAHELMATE [MALE OR FEMALE} witH 1% | 70 | a7 a
SEE ANCHOR R 1 5/8 " MiN. U ol 70 | s | o ol el w | s | &
SCHEDULES iy EDGE OISTANCE I V— w0 | o | e oGl mmm—- L I
il ol | & il 0 | e &
I e e DT _l‘ 7o | 1200 ] @& 7o foty &
B ek, | 174" ELOO PAMELMATE INSERT WITH 1%” M 70 | 3~ e 1/4” ELCO PANELMATE INSERT WITH 1%" M L I
2 EWBECHWENT _— 56 g EMBEDMENT ™ [ &
70 | 7o 'y Dig T0- | 70 &
SECTION D i == 70 | 87 | 8 ™ |er| &
EXTERIOR 1 WOOD FRAMING SHOWING 7 f1z07| & 79 120" | &
TAUT FIT MOUNTING 147 ELCO PANELMATE (TWAS) WTH 2" M. LT ey PAYELUATE, (TVAS) Wit 2° MK, R
T i 8" T o &
cam T 70| o o com - || &
70 120" 8" L 120° &
ANCHOR SCHEDULE — HOLLOW BLOCK SUBSTRATE ANMCHOR SCHEDULE — SPECIAL ANCHORS AND INSTALLATION BOLTS
oH O
CENTER
UF To | DISTANCE DISTANCE
ANCHOR TYPE LOAD | gpayg | BETWEEN Loap |UP TO | DSTAKC
A | oF (my lNﬁH"{:{ﬂS ANCHOR TYPE (PSP Dslfﬁl:”:} ”ﬁﬂm
SEE ANCHOR 1/47 T TAPCON SG W/ 15”7 MIH EMBEDMENT. o | 8 SPECIAL AWGLE ANCHOR DHLY USED IN SECTION A, o | &
SCHEDULES CONCRETE OR 70 | =& 8" SHEET 2 WITH MOUNTING ANGLE TD COMCRETE SLAD o | o -
MASONRY "W m || & | — g
BY OTHERS o fer | & 3/87 BROP M CONCRETE ANCHOR 0 | o &
/ 70 1207 - 7O 120" &
) 1/4" E1CO PAMELMATE (MALE DR FEMALE) wTH 15" | 70 | 37" 8" — J o |
' MIN. EMBEDMENT p pve po ﬁEE:li J&‘w AMCHOR WINGHWUT S5 BOLT (10, — e USE SAME
2 3/4" MIN. o — 7 | 700 | 8 707 | ANCHR RAL
EDGE DISTANCE ] e P [ 3/#" STMNLESS STEEL BOLT = o
7" SUBSTRA
7 1120 | 8 70 1] 020
- 1/4" ELCO PAMELMWATE INSERT WITH 15" WM. 70 h T B
EMBEDMENT 70 55 a
N 0 70" a"
N T B
. SEE AMCHOR 0| 1207 &
- SCHEQULES 174" ELCO PANELMATE (TVAS) WITH 1% MM o | 3 6"
EMBEDAENT - pe
1 7/8" MIN. — -
SEE ANCHOR L 78 - — CAT 5 HURRICANE SCREENS, LLC.
SCHEDULES o |z | & TRINITY, FLORIDA
TMLE: WIND ABATEMENT SYSTEM
Ti C ~ , ANCHOR SCHEDULES AND CROSS SECTIONS
0 J MeDsugall
EXTERIOR FINISH CONCRETE/MASONRY SHOWING Florida P. F. No. 28038, HFN _08/06/07
BY OTHERS TAUT FIT MOUNTING P LG '
A | Ravised onchor spocing b motch Test Report 10/30/407] DM 15&: m:::l:‘v::u;umwaI.I F?trﬁ?t. %uzrtgassczﬁ PIE, LS s CATO003
o H
S REVISION DATE |BY N copr ¢ 1mm=m lof mﬂ,;,“,n Mo, 25035 J| FPhone 321.M00017B8 Fon  321.850.1789 3 OF 3

j-cr—o7





